
MCT 4CI   Homework for 5.2.1    pp.61-62  1,3c,4,6,8  

 

 
 

 

6. The three triangles in #4 form a pattern.  Draw the next triangle in the pattern, then determine the measure of B. 

 

8. In ABC, C is located 62.0 m from B.  ABC=74.0 and ACB=48.0.  Determine the measure of side b. 
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MCT 4CI   Homework for 5.2.1     pp.69-70  1c,3,5,7,9 

 

 
 

 

5. In ABC, the measure of C=65.0, AC=47.0 m and BC=38.0 m.  Determine the length of AB. 

 

 
 

 

9. The three triangles in #7 form a pattern.  Draw the next triangle in the pattern, then determine the measure of B. 

 

 

 

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

5.2.1 pp.69-70 


